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92 | 1,2,3,6,% 20,37, 68 & 5=t feg arfeg :

(1)6 (2)9 (3) 10 (4)11
93 | T—¢js

(1) a positive rational number (2) a negative rational number

(3) anirrational number (4) both rational as well as irrational
93 | T—-eg

(1) T&TIHA Ufarmr Afamr (2) faeaHa ufar Afenr

(3) mufar Afemr (4) E= ufer M3 niufar Af

94 | Ashopkeeper sold an article offering a discount of 5 % and earned a profit of 23.5%. What would have
been the percentage of profit earned if no discount was offered?

(1) 24.5 (2) 28.5 (3) 30 (4) 35
94 | feq garaed & feqd @Hg 5% € ¢ € UHaH 3 <1 W 23 .5% H&'= aHfenT| A d€t 8¢ &7 fe st #iet, 3t
@ne aHe Ha'R € yf3nzsT af get:
(1) 24.5 (2) 28.5 (3) 30 (4) 35
95 | If selling price is doubled, the profit triples. Then the profit percent is
66g 105l
(1) 3 (2) 100 3 3 (4) 120
95 | & f&adt gz garet a9 fest Aiet § 3t HaTer fagreT § Ater 31 3t y&'8 v yfana &
66g 105l
1) 3 (2) 100 3 3 (4) 120
96 If m - . x . . e . x
is a multiple of 9, where * is a digit, then what is the value of * ?
(1)6 (2)3 (3)9 (4)4
96 24 x A oo o A . M -
g 24 9 TT IS 7, fAg Y feq #a J, 3T Yer y® at g=ar
(1) 6 (2)3 (3)9 (4)4
97 14 3
The product of two fractions is 15 and their quotient is 24 The greater fraction is
4 7 7 7
(1) 3 (2) 6 (3) 4 (4) 3
o7 14 3
& fist er g 10 I3 fegt ergar-as 24 & S fes &
4 7 7 7
1) 5 (2) 6 (3) 4 (4) 3

98 | The difference between compound interest and simple interest on an amount of Rs. 15, 000 for 2 years
is Rs. 96. What is the rate of interest per annum?

(1) 8 (2) 10 (3) 12 (4) 14

98 | 15,000 gu¥ € g 3 2 ATST BE Tadfeul fonra w3 Auas feg W39 96 gUP I1yf3 <o femma g ot
a:
(1)8 (2) 10 (3) 12 (4) 14

%9 \/§+\/§’ \/54'\/6’ \/g’ ‘/ﬁ_\/g are four numbers. When written in ascending order, these are
(3) \/g,\/g+\/§,\/ﬁ—\/§l\/5+\/g (4) \/ﬁ—\/g'\/g,\/z+\/€,\/§+\/§

9 | 3+4/5, V2 +6, V8, 11-43 7 At 35| 7 feggt § 999 o fie et mrer 3, 3 feg 0
@) V2+6, B A11-43 3445 @) V26, V3 +45, IT-43 8
) V8B +ETT-43 V2446 @ V11-V3 V8. N2+76, 3445

100 | o value of ¥0-01 +4/0.81++/1.21++/0.0009
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(1) 2.03 (2) 2.1 (3)2.11 (4)2.13
100 | 0.01 ++/0.81 ++/1.21 ++4/0.0009 gr 5 3
(1) 2.03 (2)2.1 (3) 2.11 (4) 2.13
101 | The cube root of 0-000216 js
(1) .6 (2) .06 (3) .006 (4) none of
these
101 | 0.000216 gr WE-yE T
(1) .6 (2) .06 (3) .006 (4) fegt feg aet <t &t
102 5:7:8

Seats for Mathematics, Physics and Biology in a school are in the ratio . There is a proposal to
increase these seats by 40%, 50% and 75% respectively, what will be the new ratio?

(1) 2:3:4 (2)6:7:8 (3) 0:8:9 (4) none of these
102 | feq Ag® few aifea-fefams, Ffsa fefarrs M3 Fie-fefars Tt Atet 5:7:8 € migu's fev gs | fegt
Tt et gH=TE 40%, 50% M3 75% TUTET T YAIE J1 5 MUt ot J=ar|

(1) 2:3:4 (2) 6:7:8 (3) 6:8:9 (4) fegt feg It &t &t
103 | Number of vertices and edges in a cuboids are

(1) 6,6 (2) 6,12 (3)8, 12 (4) 6,8
103 | garg few JEt fign w3 dat eht Afun gs:

(1) 6,6 (2) 6,12 (3) 8, 12 (4)6,8

104 3:5

Two numbers are in the ratio . If 9 is subtracted from each, the new numbers are in the

ratio12 123 . Then smaller number is
(1) 27 (2) 33 (3)49 (4) 55
104 | & #fprr 3:5 € migua feu 95| 7 39 feu 9 wer fegr ater T, 3t st AT 12:23 € migua feg Ia1
&2 Afwnr 3:
(1) 27 (2) 33 (3) 49 (4) 55

105 | A sum of money is borrowed and paid back in two annual installments of Rs. 882 each along with 5%
compound interest. The sum borrowed was
(1) Rs. 1620 (2) Rs. 1640 (3) Rs. 1680 (4) Rs. 1700

105 | gg UW €urd ¥ ATE I& I 882/- JUT €T € A&TaT famat few, 9od faua &% 5% 9 adf<ut Afag,
YR 99 fe' 3 AFe 751 €urg et o fast At

(1) 1620/~ gue (2) 1640/~ gue (3) 1680/~ gue (4) 1700/~ gue
106 M — )( —
If (x Diy+ 2) 7, X and Y being positive whole numbers, then the values of * and Y are
(1)8,5 (2) 15,12 (3) 22,19 (4) none of these
106 _ — - R LN oA
a (r=1)(y+2)=7 , X3 Y uaTINT Yas W 75 I3 T HE I8
(1) 8,5 (2) 15, 12 (3) 22,19 (4) fegt feg agt &t &t
107 Let ” and " are whole numbers. If 71" = 121, the value of 7" is
(1) 512 (2) 1024 (3) 2048 (4) 4096
107 s 56 mw3 n ywsdmamia m' =121 gt n" rymd:
(1) 512 (2) 1024 (3) 2048 (4) 4096
108 | The mean of the distribution in which observations are 1, 2, 3, ---n is
n(n+2) (n+1)
(1) 2 2) 2 (3) n(n+2) (4) n(n+1)
108 | &z €t wing, fAR few Que 1, 2,3, -n 35, €09
n (n + 2) (n + 1)
(1) 2 2) 2 (3) n(n+2) (a) n(n+1)

109

InaAABC,ZA:xo, AB=(3X_2) and ZC=y .AIsolC—ZB:9°.Thenthevalueof 4B js
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73 (2) 82 (3) 25 (4) 49°
109 g AABCeg sA=x" £B=(3x-2) 13 £C=Y" LC-/B=9@ 33t feg ZB wrviwd:
(1) 73 (2) 82° (3) 25 (a) 49°
110 The polynomial f(x) has a double root -1, single roots 1 and 0. Then f(x) is
(1) ()c—l)2 (x+1) (2) )c(x—l)2 (x+1) (3) x()c+1)2 (x—l) (4) x ()c+1)()c—1)2
110

fea sgue f(x)?éwg's—l,éaxgxln@oaww F(x) 3,
(1) (x—l)z(x+l) (2)x(x—1)2(x+1) (3)x(x+1)2(x—1)
11 If (a+b)3 =a’+b’

(a) x* (x + 1)(x — 1)2

, then

(1) ab>0 (2) ab<0 (3) a=0 or b=0 ora=-b (4) none of these

111 a (a+b) =a’ +b° gt
b

(1) ab>0 (2) ab <0 39 Vab=0ga=-b 4 fegfegaanrts
112 | The main aims of questioning in the classrooms are

(1) to create interest and curiosity (2) to motivate the students

(3) to test the previous knowledge (4) all of the above
112 | g@mgHt feg yas Uss e Y €eR &:

(1) fesamit w3 €3Ha3T UeT JaaT (2) fefenmagmt & 4fea dasT

(3) yau® famims &t uay JaaT (4) Budazs A9 Tt
113 | The perimeter of a circle is equal to the perimeter of a square. Then their area are in the ratio (use

22
T=—
7)

(1)4:1 (2)11:7 (3)14: 11 (4)22:7

113 22
T=—

# feg e uforry, Tgar € ufery € g9 9, 3t fegt @ ¥39es fan Maus feg a5 ( T gryGarad)

(1) 4:1 (2)11:7 (3) 14: 11 (4)22:7
114 N

—-=C
[+-2 X
To find the median of the continuous series, we use the formula: Median= f , here C
denotes the

(1) cumulative frequency of the median class

(2) frequency of the median class

(3) cumulative frequency of the class preceding the median class
(4) frequency of the class preceding the median class

114 ﬁ—C
[+ 2 X

e Bt T WistiE WEH J95 BT, WAt Wistis f @ §39 e yHar aee gtifeg Cer

H3®Y J:

(1) Hizti® det € Afes wrfeat (2) Hizt® det & nmrfet

(3) Hizis et 3 yagst Jt & Afex nirfadt (4) Hiztis Jet 3 ygast d<t & wrfedt
115 | Evaluation of the subjects should be based on

(1) annual external tests (2) both internal and external tests

(3) internal test (4) none of these
115 | fefimt e ytae fan Gua der ordter &

(1) ArBTaT gTUdt ydtdE (2) €< wi3faa W3 Fadt ydtue

(3) mitsfae udtue (4) fet fes aet < oot
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116 | If four sides of a quadrilateral ABCD are tangential to a circle, then

(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
116 | &% 93997 ABCD by 99 gae’ feg € Auant 95, 3t

(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
117 | Which of the following factors is the most important in planning class-room learning activities?

(1) motivation (2) discipline (3) lesson outlines (4) audio-visual aids
117 | gwmgH fAfur -yrust arstfed € Grsraet few wfs vo's=yes amaa fagsT o

(1) mfey@s (2) MEHHS (3) Us & gu-JuT (4) mfsC-fegm® €57
118 | The most effective teaching aid in mathematics is

(1) audio aid (2) visual aid (3) chalk and talk method (4) none of these
118 | aife3 few wf3 ygreardt niomys €3 3

(1) mfs& &3 (2) fegm® €3 (3) I9 w3 =93 fedt  (4) fegt feg It <t &t

119 | If a cone and a sphere have equal radii and have equal volumes, then the ratio between the height of
the cone and the diameter of the sphere is

(1)1:1 (2)1:2 (3)2:1 (4)3:2
119 | & fea d& M3 IV T ANTS foTATIE M3 ANTS MTfeds I8, 3T & ©f @9t W3 Ji8 © fem feg gy
&
(1)1:1 (2)1:2 (3)2:1 (4)3:2
120 | The nature of mathematics understanding is
(1) difficult (2) simple (3) logical (4) ornamental
120 | gifea-fefornrs € &g <t yfaest o
(1) vrafas (2) FI® (3) 3afaa (4) A=Y
121 | Which of the following bacteria is found in Ganga water?
(1) Coliform bacteria (2) Streptococcus bacteria
(3) Staphylococcus bacteria (4) Diplococcus bacteria

121 | 35 fafirt fed* fagar dere der € uret fev fiuser O
(1) Coliform H#IS™E (2) Streptococcus HI=TE  (3) Staphylococcus HIS™E€  (4) Diplodocus HIRTE
122 | Which of the following does not conduct electricity?

(1) Fused NaCl (2) Solid Nacl (3) Brine solution (4) copper
122 | g5 fafumt feg* faasT faast e o@a aqt T

(1) fe€=3 NaCl (2) 37 NaCl (3) gTE15 WS CER:N
123 | The p;esence of starch in raw food can be tested with

(1) Dil. lodine solution (2) Dil. HCl solution (3) Dil. NaOH solution (4) All of these
123 | g9 »rove few Ae9w € Hgeait €t yay fan &% 1St A7 Aget &

(1) Dil. Mfe6sts ws  (2) Dil. HCl W& (3) Dil. NaOH W& (4) Qugaz w9 Tt

124 | If the energy available to the plants from the sun is 20,000J. What would be the energy available to the
lion in the food chain, Plant-> Dear-> Lion

(1) 201 (2) 200J (3) 20001 (4) 20000J
124 | & gaw 3 dfewt § Qusgy €7 20,0001 I 3 #rorg-w=t few A9 § Quway Gar faat gt
Jer->faes>he
(1) 20! (2) 200) (3) 2000J (4) 20000J
125 | The evaporation of water takes place from the leaves of the plants. The process is called
(1) Evaporation (2) Transpiration (3) Dehumidification  (4) Fumigation
125 | fent @ ufamt 3 Tmutaes der 31 few yfeprr § e gs:
(1) Tmiiaas (2) THY AY9 (3) fe-mrtaas (4) Grfa9s
126 | How many times a solution of pH = 3 be diluted to get a solution of pH = 6?
(1) 2 (2)10 (3) 100 (4) 1000

126 | pH = 6 & WS YU d9& BT pH = 3 € WH § faat T3 y3s™ qgaT J<am

(1)2 (2) 10 (3) 100 (4) 1000
127 | An element X shows a valency of 3 and 5. The formula of its sulphides in the two states are respectively
(1) XS ,XS3 (2) XSs3, XSs (3) X3S, XsS (4) XSs, XS5
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127 | X 39 3 M3 5 & AGwa3T eoAgET J1 € mieng=t feu fen € AgeElst & qHE9 AT &

(1) XS ,XS;3 (2) XSs3, XSs (3) X3S, XS (4) X5S3, X555
128 | Copper obtained from copper pyrite is called blister copper. Gas responsible for the formation of
blister is
(1) co, (2) co (3) NO, (4) SO,
128 | gryg ufemreie 3° Yyruz 37 (A7u9) § afeHed aug Wrue g5 9fgned a8 et fimtera dm 3:
(1) co, (2) co (3) NO, (4) SO,
129 | Which of the following is a sulfide ore?
(1) Bauxite (2) Haematite (3) Cuprite (4) Iron pyrites
129 | g5 fafumt feg* faast Aeeels g &
(1) Sorete (2) InreTete (3) faGuarete (4) BT urfereten
130 | Metal which is a constituent of Haemoglobin?
(1) Cu (2) Al (3) Zn (4) Fe
130 | grg, fAodt dhiosfas e #ar 3
(1) Cu (2) Al (3)Zn (4) Fe
131 | Which of the following is used for making insulation of electric wires?
(1) bakelite (2) isoprene (3) neoprene (4) Thiokol
131 | faamt €t 379t o fanst 3a g=7@< BEt 35 fafipnt feg fan €t =a3 a1t Aiet @
(1) gg&TEe (2) nrfemgts (3) 316 s (4) grfeGas
132 | Which two of the following compounds belong to the same homologous series?
(1) C,H¢O, and C,HgO  (2) CgHsO, and CH,O (3) C,HO and CH,0 (4) C,HeO and C,H,
132 | I fafumt feg fags € dfoa s AT B3t &7 Agfug 9s:
(1) CHeO, M3 C,HO  (2) CeHgO, M3 CH,0 (3) C,HgO M3 CH,O (4) C,HeO MT CyHq

133 | A cart of mass 500Kg is pulled by a horse and acceleration produced in it is 4m\sec’ . The force exerted
by the horse is

(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) None of these
133 | s500Kg T @ fea 37 § W™ fu'ger I w3 fen few 30w ar=t-<9us am\sec’ 31 WS =& Barfenmr g5
I
(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) Sudaz feg' aet <t 5t
134 | The process of separating suspended impurities from water is known as
(1) Loading (2) Unloading (3) Distillation (4) Demineralisation
134 | yrat feg* et MUt § Y J96 & Yfgur § mrue 7s:
(1) Bfsar (2) MEBISar (3) IHEE (4) feg-dferiaas
135 | Arrange methane, ethane, propane and butane in order of increasing boiling points
(1) butane<propane<ethane<methane (2) ethane< methane< propane< butane
(3) methane<ethane< propane< butane (4) methane>ethane< propane< butane
135 | 2q 99 QuB=—at @ i feu Midw, aw, 1is w3 f982s & Iaoty o€
(1) fa8e® < Yus < €8s < Higs (2) Higs < ghEs < Yus < feges
(3) HiE® < &Es < Yus < fa8es (4) HiEs > &lds < JUs < fafes
136 | The acid present in the ant sting is
(1) Ethanoic acid (2) Methanoic acid (3) Citric acid (4) Tarteric acid

136 | &=t € Sor few Hge #fAs &
(1) Saanrfeq wifig  (2) Haswfea nifis (3) fafea wifrs (4) Traefaa WiAz

137 | In moving from outer most shell to inner most shell, the energy of shells

(1) increases (2) Decreases (3) remains same (4) Cannot be predicted
137 | Ag 3 97998 §® 3’ AT T Wedd §8 39 A< feu g5t €t Goam:
(1) Tu<t I (2) weet (3) A& Ifd<t I (4) IfSY gt &It 1St AT AaEt

138 | If the diameter of the earth becomes two times its present value and its mass remains unchanged,
then the weight of an object on the surface of the earth becomes
(1) one eighth (2) one fourth (3) half (4) remains same

138 | 7 fym<t o foun fen € T93Hs e 3 € et § Afer I w3 fen o e os maes Ifder 3, 3t fug<t &t
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A3 §uT Y9y €T 99 g HieT O

(1) feg-nis=t (2) fear-garet (3) T (4) A Ifder T

139 | A body of mass 2kg is thrown up vertically with a kinetic energy of 490J. The height at which the kinetic
energy of the body becomes half of the initial value is (g=9.8m\s’)

(1) 10m (2) 12.5m (3) 25m (4) 50m

139 | 2kg o ur fea iz 490) aifaw Gonr 5% Qua 5 Bfen AT § | fan Gumet €3 fis &t arfsw Gaar
WMIIT 'S 3 »it 3fg At 3, €9 3 (g=9.8m\s?)

(1) 120m (2) 12.5m (3) 25m (4) 50m
140 | An atom of calcium has a mass of 6.64X 1023g. The number of calcium atom present in 10g of calcium is
(1) 1.5 X 10% (2)1.5x10% (3) 6.023 X 10** (4) 2.4 x10**
140 | zHPAY € UIH'E BT E 'S 6.64X 107°g T 10g FBHPHH feg IBHMMH & yanent €t farest 3
(1) 1.5 X 10% (2) 1.5x10% (3) 6.023 X 102 (4) 2.4 x10**
141 | A metal X is low in the reactivity series X can be obtained from its compounds by
(1) reduction by heating (2) heating with reducing agent
(3) electrolytic reduction (4) None of these
141 | mfgfmmtasT B3t few w3 x wiwy 31 fen € wfoat 3° x faw ot yruz a9 a7 Ager &
(1) IS 578 BWIAIS (2) BWITH EHE BT® IUE
(3) feBaefafed swaas (4) Budas fes g€t <t &t
142 | A body moving in a circle travels distance which is directly proportional to time. The body travels with
(1) Zero velocity (2) Constant speed (3) uniform velocity (4) constant acceleration
142 | fe3 feg 9% four fiz gdt 3 g9er I fAgst AT 39 3 AN @ nigus few ) s fan 575 9% faor &
(1) §&W a1 (2) Afgd a1 (3) feawrg ar (4) Afgad Ir3t-<9us
143 | A 1000w heater is used every day for 90 minutes. This heater will consume units of electrical energy in 30
days
(1) 45 units (2) 90 units (3) 30 units (4) 60 units
143 | 1000w @ dteg € g9 I7 90 fitet Bt =93 13t AiEt I fev giev 30 fest feu fanset Qonr € fad afset
€ yy3 gaar:
(1) 45 gfae (2) 90 wfze (3) 30 gfae (4) 60 Gfze

144 | The direction of force acting on a current carrying conductor placed in magnetic field is determined by
(1) Right hand thumb rule (2) Cork screw rule  (3) Fleming’s right hand rule  (4) Fleming’s left hand rule

144 | Fuat 439 feu T° gor-Twq o8d 3 fPuHi® 95 €t fenr fan e fseurfes atst At O

(1) AA-g 8" #gieT fswd (2) 9 AfgS fomns

(3) eBfiter & Ae-gur femit (4) eBfier e ¥vg-TT feu
145 | Which colour component of white light is deviated the most through a prism

(1) Red (2) Yellow (3) Blue (4) Violet
145 | fg°¢ ygmm & faoar a1 33 fygy gt g 3* v fesfzg der a:

(1) 8% (2) VtsT (3) Bt&T (4) Fart

146 | A magnetic field line

(1) is the path along which a free north pole tend to move

(2) is the path along which a free iron particle tends to move
(3) is the path along which a magnetic needle tends to move
(4) is the path along which a line is traced

146 | 9ot 39 IuT

(1) €9 WaaT I fAm € &% §I39 8391 ug= vu< et yfeaz g=r T
(2) 8T HaaT I fAR € 5% F339 87 a< 98¢ et Yfeag der g

(3) €T HrgaT I fAN € 57% Tuat Fet 98 Bet Yfeas J€t T

(4) €T HraarT I fAR € 578 3y fudt At J1

147 | If the mass of both the bodies is reduced to half. The gravitational force between them becomes
(1) Double (2) Four times (3) One fourth (4) one-half

147 | 57 @9 fist € €oWs § wWe & »ur g9 fe g Afer J, 3 fegt feg gg3™ Wa9ne g AieT &
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